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1. There is only one firm in a product market, and 113 total cost luncton is TC=100 ~()+0). Please write
down the supply curve of this product market, ifany:

2 The demand curve is Q%=10-F, and supply curve is Q°=F. If the government taxes a Jump-sum tax §1

on every producer, then please calculate the equilibrium price=

3, Following previous question, if the government turns to tax a lump-sum tax S0 million on every

producer, then please caleulate the equilibrium price=

4. An utility function Uix,y=max{x, y}. Prices are P,=2 and P,=1 Income 1s 10, Please find the optimal

CONSUmMPpLon on = __

5 Given three fimms with 20%, 0% and 40% market shares in a product market, please compute the
Herfindahl-Hirschman Index=
6. In an aggregate market, C (consumption} is determined by 10+0.25Y where ¥ is the aggrepate income,

Please compute the multiple effecr=___ .
7. A money demand is specified as MYP=100+0.1Y-20R, in wheih P is the price level, Y is income. R is
interest rate, The money supply function is MYP=50, Please find the income function Y of inlerest rate
R:Y(R)=

8 In an apgregate market, the effect that increases in government purchases result in decreases in

consumpiions and investments is called
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9 Two firms A and B compete in a Coumnot-style duopoly market. They have the same cost function

T a=cis, and TCp=cqe. 4. and qp are output levels of firms A and B. The inverse demand funclion is

P=A-0. Please answer following question in order:

(a) [10%] If A obtains a new technology that reduces marginal cost ¢ 1o ¢a for free. find the
equilibrium output level for g, and qs. We assume this new technology is non-transferable,
Condition {2e-A<ca<c) i3 assumed,

(b} [16%] 1 this new technology costs, please find the maximum willing to pay for this new
technology for firm A,

{c) [5%] If this new technology is provided by another firm R, find the condition that B will sell this
new technology te one firm (rather than two firms). To simply the question. we assume firm R is

able to price at the level of the willing to pay by any firm.

14 Given a production function of a society is F=In(K), ¥ is outpul level and & is net camtal input.
K=diko+1), where K; is imtial capilal, {is investment and ¢ is depreciation rate. £ is the nominal
interest rate. 7 is inflation rate, Real interest rate r={1+&)(1+m) -1 Please answer following question
in order:
fa) [5%| Please find the investment function f{r).
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ibi [5%] Now we consider the consumption. For an intertemporal utility function LAC C=C"°C
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7 15 the consumplion today, ) is the consumption at Gme |, the endowments are # and . lor
today and time |, Please (ind the censumplion function Cr) Lot today,

(e [10%a] We further consider the povernment spending 7. Apprepate supply is o constant Y. Find the
apprepate demand function 48200 which is a function of nominal interest rate r. and then prove

that the invrease in & would resull in deceases in & and [ under equilibeium,

1 Few sheep stay on a cirele path with juicy grass. Each of sheep decides 1o allocate al a spot and start 1o
cal grass, [t eats prass alone the path in one direction only (either to the vight side or the left side). It 15
possible that one sheep eats from the right while another cats from the left. Please plot the Mash
equilibrium about the allocations under following scenarios. (11 there are multiple Mash equilibriums,
then you need to plot art least 1wo cases)

(a) [5%] There are twa sheep (A, B) on the path
(b) [3%] There are three sheep (A, B, C) on the path,
(e [5%] Thers are four sheep (A, B, C and D) on the path.
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